
 

 

 

 

 

 

 

 

 

Tow-Trust Towbars 
Important: Please read General Notes overleaf before fitting 

Issue 5 

TR823 Renault Espace 1997-2003  Grand Espace 1998-2003 
 

Item Qty Description   Item  Qty Description                              
A  1          Towbar                   E           2       M16 x 100 Bolts, Nuts & S/P Washers 
B            2          M12 Clamp Plates          F           2       M12 x 140 Bolts, Nuts & S/P Washers  
C           2          19 x 106 Tubes                G          4       M12 x 35   Bolts, Nuts & S/P Washers  
D           1          50mm Spacer Block       H           8       12 x 40 Flat Washers 

 

1. Remove the cover from the centre of the bumper and lower the spare wheel. (retain the cover in case 
towbar is removed ). 

2. Locate the M12 square nuts into position, corresponding with item F, bend the small tab to hold the 
nuts in place. 

3. Locate item A into position and using item G, with item H, loosely bolt the towbar through the existing 
holes at each side. 

4. Using item G with item H and item B passed through the apertures and over the existing holes, loosely 
secure the towbar at these points. 

5. Using item F and item C secure the towbar to the square nuts already in position. 
6. Using the holes in item A as a jig, drill two 17mm holes through the rear panel (these holes will break 

into the existing holes with no determent to the strength of the towbar. 
7. Using item E with item D bolt the ball bracket and wiring plate (not supplied in this kit) into position. 
8. Fully tighten all nuts and bolts and ensure the towbar is rigid and secure. 
9. Replace the spare wheel. 
 

 
 

 
 

 

Note: nose load limits and vehicle manufactures trailer / caravan weight limits must be observed. 
 


